

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

05/29/2024 11:00 AM | Depart to Las Vegas **05/30/2024** 09:00 AM | Install Day 1

PO:

Shipping Address:

Fertitta Residence

Las Vegas

05/31/2024 09:00 AM | Install dAy 2 06/01/2024 10:00 AM | Touch Ups

06/01/2024 04:00 PM | Event

06/02/2024 09:00 AM | (Dead) Day - No

Trucking Permitted

06/03/2024 09:00 AM | Strike

06/04/2024 09:00 AM | Depart to LA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Outside Gazebo	Area				
	Bars - New York 6'L - Painted in Blush Pink Flat front and sides with custom wallpaper application 6'W x 31"L x 42"H - Color Change Upon Request	1	\$1,250.00	Т	\$1,250.00
	Perimeter Drape - Instock TBD	1	\$4,500.00	Т	\$4,500.00
	Perimeter Valance - Instock TBD	1	\$750.00	Т	\$750.00
	Garden Sofas - Shakespeare - Blush Frame 79"W x 33"L x 31â\text{\text{8}} H	1	\$550.00	Т	\$550.00
	Garden Club Chairs - Shakespeare - Blush Frame 24"W x 28"L x 36â\\ \Bar{B} H	2	\$250.00	Т	\$500.00
	Coffee Tables - Toronto Rectangular - Blush Frame Glass Top	1	\$250.00	Т	\$250.00
,	36"W x 22"L x 17"H - Frame Color & Top Upon Request				
	Ottoman Pod 18"D - Custom Print Custom Pattern B - MW Design 18"RND x 17"H - Cover Color Upon Request	2	\$65.00	Т	\$130.00
	Accent Pillows - Assorted Blush and Pinks mixed with Custom Patterns	10	\$35.00	Т	\$350.00
		Total Outside Gazebo Area			\$8,280.00
Front Face of Te	ent				
	Exterior Tent Cap - Carnation Pink Scuba	1	\$3,500.00	Т	\$3,500.00
	Exterior Perimeter Drape - Custom Pattern B (MW Design)	1	\$5,000.00	Т	\$5,000.00
	Exterior Pullbacks - Carnation Gauze w. Backing	1	\$650.00	Т	\$650.00
	Exterior Pullbacks - Carnation Gauze w. Backing	1	\$650.00	Γ	\$650.

Description		Qtty	Price		Total
	Exterior Custom Lattice Front 10'H x 10'W TBD Color Code - Garden Green Similar to Dior Pattern Garden Lattice	1	\$4,000.00	Т	\$4,000.00
	Entry Panels - Alcove w. Top Extension to create the arched entry into the tent (double sided) with Lattice detailing at top 12'H x 10'W 8'W x 10'H	2	\$1,250.00	Т	\$2,500.00
	Exterior Wood Valance 12"H x 30'W TBD Color Code - Garden Green	1	\$650.00	Т	\$650.00
	Laser Cut Bees 10"D - Painted in Blush Pink	5	\$250.00	Т	\$1,250.00
	Baby Clothing Mannequin + Stands client to add clothing onsite	8	\$125.00	Т	\$1,000.00
		Tota	al Front Face of T	ent	\$18,550.00
Inside Tent 30 x	c 40				
	Interior Ceiling Drape - Blush Pink Chiffon w. Backing	1	\$3,265.00	Т	\$3,265.00
	Interior Perimeter Drape - Blush Pink Chiffon w. Backing	1	\$5,665.00	Т	\$5,665.00
	Perimeter Valance - Blush Pink Fabric for the entire perimeter of the tent	1	\$950.00	Т	\$950.00
	Pendant Lamp - Hamptons - COVERED in Custom Print Fabric similar to inspiration images Pattern A (revelry design) 12"W x 17"H	6	\$225.00	Т	\$1,350.00
	NEW Lantern Shape B - COVERED in Custom Print Fabric Approx 36" x 36" (1) Pattern B (mw design) (2) Pattern A (revelry design)	3	\$550.00	Т	\$1,650.00
	Custom Awnings 60"W - Carnation Pink Linen	3	\$3,000.00	Т	\$9,000.00
	NEW Metal Narrow Shelving 12"D x 8'H x 5'W painted in blush pink; for floral display and perfume bottles (client to provide)	3	\$550.00	T	\$1,650.00
	Bars - New York 8'L - Painted in Blush Pink Flat front and sides with custom wallpaper application; wording to say "Adiorable" in dior font 8'W x 30"L x 42"H - Color Change Upon Request	1	\$1,450.00	Т	\$1,450.00
	Custom Laser Cut & Hand Painted Trees (3) Sizes and shapes; placed throughout the perimeter of the tent	8	\$1,250.00	Т	\$10,000.00
	NEW Table Cloth for 60"D Custom Pattern B (MW Design)	4	\$450.00	T	\$1,800.00

Description		Otty	Price		Total
Description	Props - Carts - Metal Flower Display Cart Retro-fitted to look similar to Dior Carts Frame painted in blush pink with wallpaper design and wording "Miss Wilson" Awning also in custom print 88" x 58" x 100"	Qtty 1	Price \$2,475.00	T	\$2,475.00
	88" x 58" x 100"	Total Inside Tent 30 x 40			\$40,535.00
Services					V 10,00010
	Installers: Travel & Install Thursday	6	\$650.00		\$3,900.00
	Installers: Install Friday	6	\$500.00		\$3,000.00
	Installers: Touch Up Saturday	6	\$450.00		\$2,700.00
	Installers: Sunday Pay - No Work Permitted Onsite	6	\$350.00		\$2,100.00
	Installers: Strike Monday	6	\$500.00		\$3,000.00
	Installers: Travel to LA	6	\$350.00		\$2,100.0
	Accommodations: Perdiem for (6) Days	6	\$444.00		\$2,664.0
	Accommodations: Hotel Rooms Client to Provide	4	\$0.00		\$0.0
	Trucking: 24'L Box Truck	2	\$1,250.00	Т	\$2,500.0
	Trucking: Fuel Surcharge	2	\$120.00	Т	\$240.0
	Manager: Air Fare	1	\$850.00		\$850.0
	Manger: Onsite for (3) Days	1	\$2,550.00		\$2,550.0
	Manager: Rental Car	1	\$950.00		\$950.0
	Manager: Perdiem (3) Days	1	\$222.00		\$222.0
	Custom Artwork: Hand Painted Details	1	\$3,500.00		\$3,500.0
	Custom: Decal Printing Costs & Delivery	1	\$650.00		\$650.0
	Custom Artwork: Printed Fabric Materials & Shipping price TBD until final	1	\$2,700.00		\$2,700.00
	Certificates: Flame Proofing	1	\$650.00		\$650.00
	Supplies: Onsite	1	\$850.00		\$850.0
lease make ch	ecks payable to Revelry, Inc.		Total Produc	ets:	\$67,365.0
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc:			\$35,126.0
		V	Vear & Tear (3.00	•	\$2,020.9
lotes		т	Packing (3.00 axes (tax excem	•	\$2,020.9 \$0.0
		,	axes (tax excem	•	\$0.00 (\$0.00)
				tal:	\$106,532.9

(\$0.00)

Payments:

Balance: \$106,532.90